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1- 1- Area of parallelogram is the of its base
and altitude.
ratio =’ (D) difference J/ (C)

2- Thesquare root of a2 —2a+11is

a+1 (D) a-1(C)
3- Symbol used for similarity is
[1(D) ~(C)
4- Diagonals of a parallelogram ____ each other at a point.
do not intersect Z_/uﬁ/(‘f; (B)

none of these 7 (/e U o (D)
5- Distance between points (0,0) and (1,1) is

V2 () 2(0)

41 3 5
6- The order of matrix is .
2 0 4

2 -by- 1 (D) 3+by- 2 (C)
7- Two lines can intersect at point/points.
4 (D) 3(C)

8- The right bisectors of three sides of a triangle are

non-congruent 17 (B)
concurrent &% (D)
9-1fy=2x+1, x=2 then'y'is
5 (D) 4 (C)
10- Write i/j’): in exponential form
2% (0) 2% (©)

LG st oseld & 1 30 6 Eikor (o157 =1 -1

e bt s &
roduct — A% (A)
Cluig ¥ a?—2a+1 -2

sum <% (B)

-+
t(a—1) (B) t(a+1) (A)
Ao Ji ekl L5 .3
> ( = (A)
S L L5 e S5 4

intersect (‘f; (A)

parallel ($il1# (C)
Lo s £ (1,1) 41 (0,0) b6 -5
1(B) 0 (A)

1 35
4 2,8 A -6
L {204}'

2 -by- 3 (B) 2-by-2 (A)
B ESE 65 b T
2 (B) 1(A)

Zow ot $nf L el U L ke s B
collinear Jv’ﬁ (A)
parallel (st (C)

e A’y In y=2x+1, x=2 S8

3/(B) 2 (A)
Z”Eu:rzﬁug)f% =10
2° (B) 2 (A)

11 What will be added to complete the square of 9a2 —12ab? & ./ & VUt u1 & b ¢ J¥S 9a% ~12ab -11

-4b* (D) 4b% (C
12- congruent triangles can be made by joining the

mid-points of the sides of a triangle.

2 (D) 5(€)

13- log,a=__
10 (D) 1 ('P)
14- A statement involving any of the symbols <,>, < or 2

iscalled _____.
linear equation wlslsFnf (B)
: inequality el (D)

15- (3 ++2)3-42) is equal to

9 (D) -7 ()
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16b2 (B) -16b* (A)
e b6 5 L e £ adi LT 12

g Felutt S

4 (B) 3 (A)
logsa=__  _13

-1 (B) 0 (A)
& g & [ B syloBuldd

et L dyerte LTS

equation =i~ (A) .
identity =L (C)

e s (V3+2)(3-42) -15

7 (B) 1(A)
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Mathematics (Science Group)
Time: 2:10 Hours

Marks: 60

Note: Section I is compulsory. Selve any THREE (8) questions

Group -1

from Section II. However question No. NINE (9) is compulsory
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. Section I (Jil o
2- Write short answers to any SIX questions: (2x6=12) “ZEfen Loy 6) g -2

rirasl 40 ;
i3 o then find | A |

ii- Simplify /64x3y?
ii- Simplify 53" +(52)?

X
iv- Find the value of "x" if loges 8 = 3

v-If log2=0.3010 , log3=0.4771 , log5=0.6990 ,
then find the value of log 45
vi- Simplify v/45 3420 +4+/5
vii- Define binomial surd.
vii- Factorize 144a® +24a +1

ix- Factorize 2x —128x°

z

40
-éﬂvmunhL Jﬁ -l

V6axiy?  ZL #i
53 N o
103648:‘3 /;"C,{(JJ"’&EJ"X” -iv

z

log5=0.6990 . log3=0.4771 , log2=03010 1 _v

—é(}”:f{; g log4s 7x
Ja5-320 + 445 2 F i
G s i
14422 +24a +1 & §F  _vii
2x -128x> ﬁldf -ix
E fer Ly ) g0 3

3- Write short answers to any S$IX questions: (2x6=12)
| .
- Find square root by factorization X’ —1 +4—— x2 -1+ e gl §F i -
X X

ii- Solve 9-7x>19-2x, where x€R xeR L 9-Tx>19-2x ,:{J’ -ii

iii- Solve |2x+3[=11 [2x+3|=11 25 F i

iv- Find the values of m and ¢ by expressing in the form J c sl Mo L i_/ﬁuluﬁ y=mx+c¢ Sebls _iv
of y=mx+c - fér,lr_w_?
2x+y-2=0 2Xx+y~-2=0

9
V- F=§C+32,then find F if C=50°

vi- Find the distance between two points A(5,2), B(-3,-2)
vii- Find the mid point between two points A(4,~4), B(—4, 4)
vii- What is meantby A.S.A = A.S.A

ix- Find the unknown values of x° and yo in given figure.

o 9 Z
C=50° N & o el F i F=2C+32 S
A(S!z)sB(—B’—z) Z"fr}v}"ﬁdkﬂ) KME;)) ~vi
A(4,-4),B(-4,4) 2 o015 Qs K46 0 _vii
e sy Ve i = i i

*".{(’L’”w‘;‘fk{ y' st X ufdﬁéfu’) -ix

75" < P 75 < ¥
4- Write short answers to any SIX questions: (2x6=12) -cf/]’uLli/"ZuUlr(G)ic_Gf -4
i- Define Bisector of an angle. gy et L TP
ii- Verify that 13cm, 12cm and 5cm are the sides of a JCM L eds 5em sl 12cm, 13cm fé-:z.t‘ i
triangle. U UEH
iii- Define Ratio. EE S i

(é’.'JJJ)

o o LT )



iv- Find the value of 'x". -2_{(}"’0*3 $
S Gyt S
. ‘ X X

v- Verify that the triangle having following measures of sides
is right-angled triangle:
a=1.5cm,b=2cm,c=2.5cm

vi- Find the area of a square whose length of one side is 9cm

vii- Find the area of given figure

10cm

16¢cm
viii- Define orthocentre.

ix- Construct a AABC, in which
mAB = 4.2cm ,mBC =3.9¢m , mCA = 3.6cm

Lt Gfd)ugUJCML&ﬁé‘@fé%V
Le &b il 128G
a=1.5cm,b=2cm,c=2.5cm

e oem U PLL S E B

10cm -
16cm
ARy ATyt

S St AABC
mAB = 4.2cm, ml_3—é =3.9cm, mCA =3.6cm

Section II (% -

(UZ/.; 4 LJ'Zﬁ ! /:‘.' 8 Ldlyﬁ)

5- (a) Solve by Crammer's rule:
2x+3y=-6
2x+5y=-10

p+q q+T p+q q+r
o [af al - af a4 L .
(b) simplify: | —| | — +5@P-a")P" a0y | T +5@P-a")P T L ar0:2E A (L)
a a a

6- (a) Use log tables to find the value of 3/2.709 x¥1.239

x3

7- (a) If (x+2) is a factor of 3x* —4kx — 4k?, then find
the values of k.

(b) Use division method to find the square root of
2 2
’—‘7—10—"—+27—10—Y—+L2 (x#0,y#0)
y y X X
8- (a) Solve for'x': |x+2]-3=5-]{x+2|
(b) Construct a triangle PQR and draw its altitudes, if

mi’ﬁ =6cm, mff!( =4.5cm, mPR =5.5cm

9. Prove that the bisectors of the angles of a triangle
are concurrent.

OR

A Prove that triangles on equal bases and of equal altitudes
are equal in area.
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~viii

-ix

ZZ_{JQM JUYGL/{./ () .t

2x +3y=—6
2x+5y =-10

ar

2700 x 1230 & ed e u e At () -

(b) If GX—EI—:G, then find the value of 216x3~2]; ’ér,laf_»,,,} & 216x° -
X

Ve 6X——
2160 27 ex

! =6 /f! ("')

I AT AR _gxx—ak? G (x+2) S -

e o d K

L o B s ()

2 2
3‘7—10—"—+27—1()—y—+y2 (x#0,y#0)

b

y X X

[x+2|—3=5—1x+2| :éd’g_i'x'(u&)l) .8
fl‘g(,/) L6s Lt b APQR (L)

mFQ_ =6cm, maﬁ =45cm, mPR =5.5cm
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1-  1- The medians of a triangle cut each other in Sed e mdicesl At 11
theratio . . Ut b d”
1:1(D) 2:1(C) 3:1(B) 4:1(A)
2- The ratio between two quantities a and b is represented by e b Ul S el uln £ bosla Ukl 22
a<«—b (D) a;b(C) a=b (B) a:b/(A)
3- One angle of a parallelogram is 55°, the remaining angles Jg 4 55° 315 L1 6 L ukow S L1 -3

are of measures Ut S b ugsls

125°,125°,125° (D)ﬁ 55°,55°,125° (C) 55°,55°,55° (B) 55°,125°A25° (A)
4- Distance between the points (1,0) and (0, 1) is —c Job [}L/w §(0, DA (1,0) 50 -4
V2 (D) 2(0) 1(B) 0 (A)
3 3 .
5- x= is a solution of the inequality —2<X<E. N J:uﬁ Cor L —2<X<E el x= _5
3
0 (D) D) (C) 3(B) -5 (A)
6- If log, X =2, then x= =xpn logsx=2 /1 6
1 1 &
6 (D) 3 © 16 (B) 8 (A)
7- Factors of 8x> +27y° are ' -t } A Y4399 T
(2x -3y),(4x* -9y%) (B) (2x4/3y),(4x* +9y%) (A)
(2x =3y),(4x% + 6xy +9y?) (D) (2% +3y), (4x% - 6xy +9y?) (C)
8- is the order of a square matrix. e f§ 6 e -8
2-by-3 (D) 2-by-1 (C) 3-byl1-(B) 3-by-3 (A)
9- Obtuse angled triangle has angle/s ‘e 90° & sl slf APy Poy e
greater than 90°. Ut Ll by ol
3(B) 2(A)
1(D) none of these ¥ (S X ! (C)
10- Area of square is : / i ALK G, 10
4cm 4cm !
4cm 4dfrn
4cm?® (D) 64cm? (C) l6cm? (B) 8cm? (A)
1- (V7 +43)7-43)= W7 +V3)V7-VB)=____ 11
52 (D) 10 (C) 46 (B) 4 (A)
12- If (x,0)=(0,y), then (x,y)=______ = (x,y) 7 (x,00=(0,y) Si_12
(1,1 (D) (0,0) (C) (1,0)(B) 0,1 (A)
13- H.C.Fof a2—b2 and 2* b is ___. Py A a3 —b® o a2 b2 13
a’—ab+b? (D) ‘ a-b (C) a+b (B) a’ +ab+b? (A)
14- Sign used for congruency of two triangles is ) —e ot Jii et d L U S J14
~ (D) «— (C) = (B) = (A)
15- y4x° = \/4x_° = -15
4 (D) ‘ 2x (C) 2 (B) 4x (A)
12-(11)-1%°A 124-116000 4 '
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Marks: 60

Note: Section I is compulsory. Solve any THREE (3) questions

Group: IT

from Section II. However question No. NINE (9) is compulsory

s Section 1

=12) -£{,~’..,w/"éuwr(s)q‘.6,’ -2

2- Write short answers to any SiX questions: (2x86

i- Perform the indicated operations and simplify.

I3 20+(2 1 0-t 3 2)

ii- Use law of exponents to simplify (,’Zx5 - ) G 8x'3y )

iii- Find the value of x and y, if x-iy-3=6-7i

iv- Find the value of x from the statement 10g; x =5

v- If log2=0.3010,log3 = 0.4771,log 5 = 0.6990, then find
the value of log32

vi- If a+b =10 and a—b = 6; then find the value of
(2% +b?)

vii- Simplify (\/5 +—J§)[ﬁ ——J?]

viii- Factorize 3x° —75y2
ix- Use remainder theorem to find the remainder when
8x* +4x> —3x +2 is divided by (x +3)
(2x6=
i- Find the L.C.M of the expression 39x7y3z and 91)(5y6z7
ii- Solve for 'x' |8x—3|=]4x+5]
iii- Solve the inequality —4 <3x+5<8

iv- Draw the graph of the equation y = 4x

3- Write short answers to any SIX questions:

v- Find the values of 'm' and 'c' by expressing in
theformof y=mx+¢ |, 2x-y=-3

vi- Find the distance between the following pairs of points
A(3,-11),B(3,-4)

vii- Find the mid point of the line segment joining pair of points

A(4,-11),B(4,-4)
viii- What is meantby S.A.A = S A A
ix- Define quadrilateral.
4- Write short answers to any SIX questions: {(2x6
i- How are the right bisectors of the sides of a triangle?

ii- Can the following set of the lengths be the lengths of the
sides of a triangle? 3cm,4cm, Sem

iii- What are similar triangles?
iv- Find the unknown value of 'x’ in-figure.
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(3) J:.J = Uf(”'-"’ -q.d}ﬂdil-‘o nsd

51 0

E e S SSE I a"zi Ay
I3 2+(2 1 o}t 3 2)
xSy ) =8xy?) £ Fe L fLIL v
x—iy—3=6—7z‘/;l:2f§,'}"‘.>g’jd/y/;lx

logyx =5 & ped § xe Ut il
/,gr,w;,gg log32

log2=0.3010,log3 = 0.4771,log 5 = 0.6990
=i @%+b?) Jxa-b=6 s a+b=10 i
e

-4 3] ¢
3x2-75y2 2L f

8x4 +4x3 =3x+2 w2 ¢ érﬁ’dtc._u J(}L,l/
i Mﬂ/ (x+3) f

91x°y%2" i 39x7y’z : ér}"d’uwm
[8%x ~3|=|4x+5] 'ér,lv_,nf
-4<3x+5<38 é(}”.‘{d’(@bvff
y=dx &k S st
q."‘ft,('c'ul'm',«#df_i,//;léut y=mx+c¢
2x-y=-3 &

i(‘}”}’b Wen e Usif b J’::‘Zyu
AQG,-11),B3,-4)

P (}L/‘J) K isold e S :’/u:/'i. L b (,tjfw:
A(4,-11),B(4,-4) b
Sespfe S AAZSAA
-éJ/.;J/)CV

St Ln el ot Gt L £ e "

St 6 bl UL Jignir
3em , 4cm, Sem

fut Jx y’utfqtﬁ
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v- What is Pythagoras theorem? v R fe |/ el e v
vi- What is altitude of a triangle? é u”/ ~r /M e LA K ekt _vi

vii- Find the area. gl il
£ B
I5) )
= ‘ 2
] 8cm ] 8cm

viii- Define Circumcentre. -zf_f - /‘ J /‘*‘H;« ~Viii
ix- Construct a AXYZ in which S ek AXYZ Lix
mXY =5.5cm, mZX =4.5cm , mZZ = 90° mXY =5.5cm, mZX = 4.5cm, mZZ =90°

Section I >

(u.?/.J 4 L7 s o f.’ 8 ZJw )

(a) Solve by using Crammer's rule 3x —y = —4 X-y=—4 S ruluhl S () 5
’ 4x-5y=6 4x -5y =6

L (216)% (25))4 1(216)% (25)}/2 ;
(b) Simplify [~=—L T S o2 ()
0.04) % V oon” F '
(@) Use logarithm to find value of 9_?%2 Jg—z—%%x—gz—oi Epredc u g (Z%‘ (LD -6

(b) If+m+n=7 and £2+m?+n?=81, then find value of FnJ2+m2+n2=81 sl f+m+n=7 1 (<)
Im+mn+fn & o d  Amemn+dn
(@) If (x—1) is a factor of x3 ~kx? +11x -6, then find 82K 3 —kx? +11x-6 G2 (k=D S 7
the value of k. e ed Sk Je
(b) Use division method to find the square root of e EPE (L)
2 2 2 2
2t0E+27-10% 4 2 AT RG0S
y o X X y y X X~
(a) Solve the equation ér}ﬂ;gd’ Kellr (L) 8
2x 2 5 x:t_s 2X -._%,__ 5 i
2x+5 3 4x+10 2 2x+5 3 4x+10 2
(b) Construct AABC. Draw the bisectors of its angles z:” ot  ygas & sl e ts AABC (L)
mAB = 4.2cm,mB_C_ =6cm and mCA =5.2cm “mCA =5.2cm ! mBC = 6¢m « mAB =4.2cm
Prove that "Any point inside an angle, equidistant from its LB S st Lo sl s gt g
arms, is on the bisector of it." £t L sli U1 B 0y T heWISole e USJL
! & v @l:
OR L
Prove that "Triangles on the same bases and of the same LUt £ st Uzt Ols ¢ 0466 (5 1 2 S L e
(i.e, equal) altitudes are equal in area." "_J Ut abe o 3 0s Ut 4ls
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